

Schutz 6.39 (a) (i)  $[\vec{U}, \vec{V}]^\alpha = U^\beta \nabla_\beta V^\alpha - V^\beta \nabla_\beta U^\alpha$

$$[\vec{V}, \vec{U}] = V^\beta \nabla_\beta U - U^\beta \nabla_\beta V^\alpha = \boxed{-[\vec{U}, \vec{V}]^\alpha}$$

(ii)  $[\vec{U}, \vec{V}]^\alpha = U^\beta \nabla_\beta V^\alpha - V^\beta \nabla_\beta U^\alpha$

$$= U^\beta [V^\alpha{}_{,\beta} + \Gamma_{\mu\beta}^\alpha V^\mu] - V^\beta [U^\alpha{}_{,\beta} + \Gamma_{\mu\beta}^\alpha U^\mu]$$

$$= U^\beta V^\alpha{}_{,\beta} + \Gamma_{\mu\beta}^\alpha V^\mu U^\beta - V^\beta U^\alpha{}_{,\beta} - \Gamma_{\mu\beta}^\alpha U^\mu V^\beta$$

use symmetry of  $\Gamma$   
and relabel dummy indices

$$\Gamma_{\mu\beta}^\alpha U^\beta V^\mu$$

$$= \boxed{U^\beta V^\alpha{}_{,\beta} - V^\beta U^\alpha{}_{,\beta}}$$

Davidson Cheng  
4.29.2024.

Schwarz 6.39 (b)  $[\vec{U}, f\vec{V}] = U^\beta \nabla_\beta (fV^\alpha) - fV^\beta (\nabla_\beta U^\alpha)$

$$= U^\beta (\nabla_\beta f) V^\alpha + U^\beta f (\nabla_\beta V^\alpha) - f V^\beta \nabla_\beta U^\alpha$$

$$= f [U^\beta \nabla_\beta V^\alpha - V^\beta \nabla_\beta U^\alpha] + V^\alpha U^\beta \nabla_\beta f$$

$$= \boxed{f [\vec{U}, \vec{V}] + \vec{V} (\vec{U} \cdot \nabla f)}$$

Davidson Chay  
7.29.2024

Schritt 6.39 (c)

$$\text{By Defn, } \mathbf{t}_0[\tilde{\omega}(\vec{v})] = (\mathbf{t}_0 \tilde{\omega})(\vec{v}) + \tilde{\omega}(\mathbf{t}_0 \vec{v}),$$

$$\Rightarrow (\mathbf{t}_0 \tilde{\omega})(\vec{v}) = \mathbf{t}_0[\tilde{\omega}(\vec{v})] - \tilde{\omega}(\mathbf{t}_0 \vec{v})$$

$$= L_0^\beta [w_\alpha v^\alpha] - w_\alpha (U^\beta \nabla_\beta v^\alpha - v^\beta \nabla_\beta U^\alpha)$$

$$= U^\beta \nabla_\beta [w_\alpha v^\alpha] - w_\alpha U^\beta (\nabla_\beta v^\alpha) + w_\alpha U^\beta (\nabla_\beta U^\alpha)$$

$$= U^\beta (\nabla_\beta w_\alpha) v^\alpha + \cancel{U^\beta w_\alpha (\nabla_\beta v^\alpha)} - \cancel{w_\alpha U^\beta (\nabla_\beta v^\alpha)} + w_\alpha U^\beta (\nabla_\beta U^\alpha)$$

$$= U^\beta (\nabla_\beta w_\alpha) v^\alpha + w_\beta (\nabla_\alpha U^\beta) v^\alpha \quad (\text{relabel dummy index})$$

$$= \boxed{(U^\beta \nabla_\beta w_\alpha + w_\beta \nabla_\alpha U^\beta) v^\alpha}$$

Dawson Chen

5.9.2024